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 !" 621.313.333 

 .!. "#$%&'(#) 

 !"#$%&' ()$*+,"$-.!//0' -!1/&2!$%&' */&.!"$&-!- 

*+,-././,. *+01+2--/010 -0 345 

«64."7+0//89 *42/ 4,":, 2;,, 2:2+,,» 

3 1)+! ",4)-0 405, /,6&$,/, 6")(",##, «75!%-")//0' 65,/ 5&%.&+,8&& ,.,"&&», %)-)-
",9 &#!!- #/):!$-.) 6"!&#*;!$-. 6!"!+ )402/0# 65,/)# 5&%.&+,8&& ,.,"&&. 3 <-)' 6")(",#-
#! 405, $)=+,/, $1!#, "*+/&%, >? @A-4 (BCB «A",5%,5&'») & )6!",-&./,9 2,$-D 65,/,. E!'2,$ 
<-, 6")(",##, ./!+"9!-$9 /, "*+/&%,1 BCB «A",5%,5&'». 

 

# $%&'()*++ ,-+.) $% .$(/+&',+ -01$23(, 1( &24 5(- 5(67809'&) (:;<-

$;. 56%$(. 623,21%=22 %,%-22, 5-2 5(5(6$+$22 3('(-(>( $0/$( ,;5(6$)'7 

.$(/+&',( '-01(+.324 <+-'+/$;4 2 -03(52&$;4 (5+-%=2?. @%3/+ 5-2 8%1+?&'-

,(,%$22 '%3(>( 56%$% 623,21%=22 %,%-22 ,(8$23%9' 5-(:6+.;, &,)8%$$;+ & 5(-

2&3(. $0/$(? 5(82=22 2 &=+$%-2). A(B'(.0 :;6% -%8-%:('%$% 5-(>-%..% 

«C6+3'-($$;? 56%$ 623,21%=22 %,%-2?», 5-2 2&5(678(,%$22 3('(-(? $+ ,(8$2-

3%+' B'24 5-(:6+.. C'% 5-(>-%..% 5-+1$%8$%<+$% 16) 5(&'-(+$2) &4+. 56%$(, 

623,21%=22 %,%-22, 01(:$(? $%,2>%=22 5( $2. 2 4-%$+$2) (5+-%'2,$(? <%&'2. 

!6) -%:('; & 5-(>-%..(? 5-+10&.('-+$( 1,% -+/2.%: -+/2. -+1%3'2-

-(,%$2) 2 5-(&.('-%. 

# -+/2.+ -+1%3'2-(,%$2) (-2&. 1) (&$(,$(+ (3$( 5-26(/+$2) &(&'(2' 28 

>6%,$(>( .+$9, 5%$+62 2$&'-0.+$'(, & 0&6(,$;.2 8$%3%.2, 5%$+62 & ('(:-%-

/+$2+. &'-03'0-; &6(+, 2 0-(,$+? 2 -%:(<+? (:6%&'2 5-(>-%..;. D%:(<%) (:-

6%&'7 5-(>-%..; 5-+1&'%,6)+' &(:(? &,(:(1$(+ 5(6+, 5-+1$%8$%<+$$(+ 16) 

&(81%$2) &4+.; 56%$% 623,21%=22 %,%-22 5-2 5(.(*2 5%$+62 2$&'-0.+$'(,. 

@%3/+ , B'(. -+/2.+ -+1%3'2-0+'&) (5+-%'2,$%) <%&'7 56%$% 623,21%=22 %,%-

-22. E.++'&) ,(8.(/$(&'7 (>-%$2<+$2) 1(&'05% 3 -+/2.0 -+1%3'2-(,%$2). 

# -+/2.+ 5-(&.('-% (-2&. 2) $+1(&'05$; F0$3=22 -+1%3'2-(,%$2) &4+.;. 

C'(' -+/2. 5-+1$%8$%<+$ 16) 12&5+'<+-% G%4';. 

!6) ('(:-%/+$2) &4+.; 5-+10&.('-+$( '-2 ,%-2%$'% ((12$%3(,;4 16) 

-+/2.(, -+1%3'2-(,%$2) 2 5-(&.('-%): 

1) 5(82=2) (5-2 B'(. ,+',2 (3-%G2,%9'&) , =,+' 5(82=2?, 3 3('(-;. 

($2 5-2,)8%$;); 

2) &6(? (5-2 B'(. ('(:-%/%9'&) 3($'0-; ,+',+? , &((',+'&',22 & =,+-

'(. %&&(=22-(,%$$(>( &6()); 

3) &6(? 2 5(82=2) (5-2 B'(. ('(:-%/%9'&) 3($'0-; 2 8%62,3% ,+',+? 

, &((',+'&',22 & =,+'%.2 %&&(=22-(,%$$(>( &6() 2 5(82=22). 
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D2&. 1. D+/2. -+1%3'2-(,%$2) 

 
D2&. 2. D+/2. 5-(&.('-% 

"-(.+ '(>(, 2.++'&) ,(8.(/$(&'7 ,;:-%'7, ('(:-%/%'7 262 $+' 5(82-

=22, 8%.+-$;+ &'%$=22 2 $%152&2. 

!%$$(+ 5-26(/+$2+ 2.++' 1(&'05 3 :%8+ 1%$$;4 ,+$'26)=2($$(>( /0--

$%6%. # (3$+ $%&'-(?32 &,(?&', 8%.+-$(? &'%$=22 .(/$( 5-2,)8%'7 1(:%,-

6+$$;? 0&6(,$;? 8$%3 3 3($3-+'$(? 8%.+-$(? &'%$=22 28 :%8; 1%$$;4 2 '%-

32. (:-%8(. 5(60<2'7 1(&'05 3 <'+$29 2 -+1%3'2-(,%$29 8%52&+? ,(810G-

$(? 2 >%8(,(? &H+.32 5( &((',+'&',09*+? &'%$=22. 

#( ,36%13+ «#(810G$%) &H+.3%» (-2&. 3,  ) (52&%$; 5%-%.+'-; &H+.32, 

F%.262) 2&5(6$2'+6), 1%'%, .(/$( 1(:%,2'7 3(..+$'%-22. 

#( ,36%13+ «I%8(,%) &H+.3%» (-2&. 3, !) ,&+ %$%6(>2<$(. 
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  ! 

D2&. 3. J3$( «K,(?&',% 8%.+-$(? &'%$=22»:  

  – ,36%13% «#(810G$%) &H+.3%»; ! – ,36%13% «I%8(,%) &H+.3%» 

K 5(82=2+? .(/$( %&&(=22-(,%'7 (5-+1+6+$$;? $%:(- ,+',+?. # -+-

/2.+ 5-(&.('-% 5-2 ,;1+6+$22 $+3('(-(? 5(82=22 ,&+ ,+',2, $+ ('$(&)-

*2+&) 3 1%$$(? 5(82=22, &'%$(,)'&) :6+1$;.2 2 5-(8-%<$;.2, '.+. 5-2 ,;-

1+6+$22 5(82=22 (&'%9'&) '(673( ,;-%:('32, ('$(&)*2+&) 3 $+?, 2 8%5%&-

$;+ ,;4(1;. 

A-2 $%/%'22 $% 5(82=29 5-%,(? 36%,2G+? .;G2 5(),2'&) (3$( &( 

&52&3(. ,&+4 &=+$%-2+, B'(? 5(82=22. 

E.++'&) ,(8.(/$(&'7 5-(&.('-% &52&3% ,&+4 5(82=2? (-2&. 4). A-2 $%-

/%'22 $% 3$(530 «A+-+?'2» ,(86+ &=+$%-2) 5+-+4(12. 3 28(:-%/+$29 B'(>( 

&=+$%-2) $% &4+.+, % 5-2 1,(?$(. 3623+ 6+,(? 3$(53(? $% &=+$%-2? ('3-(+'-

&) (5+-%'2,$%) <%&'7. 

C6+3'-($$;? 56%$ 623,21%=22 %,%-22 2.++' -)1 5-+2.0*+&',: 

 ! (5+-%'2,$(&'7 1+?&',2? 12&5+'<+-% 5-2 8%1+?&',(,%$22 56%$% 623-

,21%=22 %,%-22; 

 ! 01(:&',( -+1%3'2-(,%$2) &4+.; 2 (5+-%'2,$(? <%&'2 56%$% 623,2-

1%=22 %,%-22; 

 ! &,)87 & ,+$'26)=2($$;. /0-$%6(.. 
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D2&. 4. J3$( «K52&(3 5(82=2?» 

# 1%$$;? .(.+$' ,+1+'&) -%8-%:('3% 1(5(6$2'+67$(>( 5-(>-%..$(>( 

(:+&5+<+$2) & 1(:%,6+$2+. , B'0 5-(>-%..0 ,(8.(/$(&'2 -%&<+'% >%8(-%&-

5-+1+6+$2) 2 '+56(-%&5-+1+6+$2) 5-2 5(.(*2 &,)82 & .(106+. «LB-(&+'7», 

% '%3/+ &2&'+.; 5(82=2($2-(,%$2), 3('(-%) :01+' ('&6+/2,%'7 .+&'(5(6(-

/+$2+ -%:(<24 5(&-+1&',(. 0&'%$(,6+$$;4 , G%4'+ 1%'<23(,. 

A(1',+-/1+$2+. ,(&'-+:(,%$$(&'2 B'(? 5-(>-%..; ),6)+'&) ,$+1-+-

$2+ 2 %3'2,$(+ 2&5(678(,%$2+ ++ $% -01$23%4 JLJ « -%63%62?». 

 

A(60<+$( 27.04.2010 


